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5.5 hAd 8,700 9,900 -1,200
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2. 41377174 5,400 5,400 0
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3.999 1,000 1,000 0
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71Ep s A4 H] 2 4310,0004-714 ~300.000
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3,130,0009=
ZolaH A R A=A o711 A
:j’j WA 2 73 7600,0009-7173800,000 200,000
%‘—E%i}%ﬂ stEddAESE 65,0009 1,300,000
=209 X 13]=
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6.7 7HAl A 9w A Bt 0 90 _gp| FHFIAARA AR B 0d-714 90,000
= 90,0009 =
X 7| F¢ AA 9-714 <
7.8 F G n) 5,860 3,200 2,660] ° 173 7378480,00041-718700,000¢ -220,000
AFE T 920,0009 X 10 X 13]= 920,000
757179 80,0009 X 271 X 13]= 160,000
frol &7 Y] 500,0009 X 371 X 13]= 1,500,000
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L TDA AT I 4,060 5,460/  -1,400
A7l = AA 2)-7]1 A
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1. &5 87D AA s I= 24,279 23,078 1,201
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3.AABYEdw 17,440 17,440 0
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1.8hal2- o 9 1 3] 1,000 1,000 0
1.3 919329 1,000 1,000 0
1.949] 200 200 0
2. AW T2 800 800 0
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A9 | wsl | AR AE ajpAus | A S
2.3ty 1,500 1,500 0
1.3 252 0 S 400 400 0
12353 300 300 0
2,999 100 100 0
2. 8H 1 5] 9o 1) 1,100 1,100 0
1. 7174 A 1701 100 100 0
2. 4N - Fxm] 1,000 1,000 0
7.3t AF2F 1,596 1,596 0
1.4H)n] 1,596 1,596 0
1. cn)u] 1,596 1,596 0
1.eun] 1,596 1,596 0
L. 1,596 1,596 0
A =3A 459,000| 298,530/ 160,470
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